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ANSWER ALL QUESTIONS
PART=A (10x2=20 marks)

1. Define diversity factor.

2. What is unit commitment?

3.  What is the use of static and dynamic response of the
ALFC loop?

4. Name the various parts of speed governing system.

5. Write the open loop transfer function of brushless
excitation system.

6.  What is the use of synchronous condenser?

7. List the advantages of forward dynamic programming
approach.

8. Draw incremental cost curve.
9. Mention any four functions of Energy control centre.

10. What is the function of Data Acquisition system?
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PART-B (5x16=80 marks)

Explain briefly about the characteristics of
different types of load?

Or

Discuss briefly about the various system
control operations performed on a power plant
in order to meet the demand.

Two alternators opcrates in parallel and their
capacities are 200MW and 400MW, the drop
characteristics of their governor are 4% and
5% from no load to full load. How would a load
of 600MW be shared between them? What will
be the system frequency at their load?

Or

Draw the Block diagram of two area load
frequency control and also obtain the steady
state frequency drop equation.

Discuss briefly about the static and dynamic
analysis of Automatic Voltage Regulator loop.

Or

Explain briefly the various methods of voltage
control.

) Develop an iterative algorithm for solving
the optimum dispatch equation of an 'n’
bus power system taking into account the
effects of system losses.
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commitment and economic load dispatch.

Or

() Construct a priority list for the units given (16)
below.
H, = 510.0+ 7.2 P1+0.00142 Pi2MBtwh  Piome =150MW&P 2% =600MW
H:= 310.0 + 7.85 P:+0.00194 P"MBtwh P =T00MW &Pyax =400MW
Hy = 78.0 + 7.97 Py+0.00482 PsMBiu/h - Pomo =50MW&Pzmax =200MW

With fuel costs

Fuel costl= 1.1 R/MBtu.
Fuel cost2= 1.0 R/MBtu.
Fuel cost3= 1.2 R/MBtu.

15. (a) Explain briefly about the SCADA with neat (16)
block diagram.

Or

() Draw the State transition diagram of (16)
operating states of a power system and also
explain how the state transition takes place
between each states.
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